

Zeitschrift: Elemente der Mathematik
Herausgeber: Schweizerische Mathematische Gesellschaft
Band: 43 (1988)
Heft: 1

Artikel: A proof of Ilieff's conjecture for polynomials with four zeros
Autor: Cohen, G.L. / Smith, G.H.
DOI: <https://doi.org/10.5169/seals-40796>

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. [Siehe Rechtliche Hinweise.](#)

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. [Voir Informations légales.](#)

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. [See Legal notice.](#)

Download PDF: 16.05.2025

ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>

A proof of Ilieff's conjecture for polynomials with four zeros

A conjecture of B. Sendov, better known as Ilieff's conjecture, states that if all zeros of a polynomial $P(z)$ lie in the unit disc $|z| \leq 1$ and if z_0 is any one such zero, then the disc $|z - z_0| \leq 1$ contains at least one zero of $P'(z)$. Proofs of this conjecture have been given for polynomials of degree at most five and in a number of other special cases for polynomials of any degree. In particular, proofs of Ilieff's conjecture for polynomials with three zeros have been given by Saff and Twomey [5], Schmeisser [6] and Cohen and Smith [1]. References to other special cases may be found in Marden [2] and Schmeisser [6].

The purpose of this note is to prove that Ilieff's conjecture is true for all polynomials with at most four zeros. The methods we use are elementary and the paper is fully self-contained.

We set

$$P(z) = \prod_{j=0}^{p-1} (z - z_j)^{n_j}$$

where the n_j are arbitrary positive integers and the z_j are distinct with $|z_j| \leq 1$, $j = 0, 1, \dots, p-1$. We wish to show that $P'(z)$ has a zero in $|z - z_0| \leq 1$ if $p \leq 4$. This is immediate if $n_0 > 1$, so suppose $n_0 = 1$. Without loss of generality, we may assume z_0 to be real with $0 \leq z_0 \leq 1$.

Let us put

$$P(z) = (z - z_0) \prod_{j=1}^{p-1} (z - z_j)^{n_j} = (z - z_0) Q(z).$$

Let $n = 1 + n_1 + n_2 + \dots + n_{p-1}$. Then if $w_1, \dots, w_{n-1}$ are the zeros of $P'(z)$, we have

$$P'(z) = n \prod_{j=1}^{n-1} (z - w_j).$$

By suitable relabelling of the w_j we can write

$$P'(z_0) = n \prod_{j=1}^{p-1} (z_0 - \zeta_j) (z_0 - z_j)^{n_j-1}.$$

On the other hand, we have

$$P'(z_0) = Q(z_0) = \prod_{j=1}^{p-1} (z_0 - z_j)^{n_j}.$$

Writing $r_j = |z_0 - z_j|$, $q_j = |z_0 - \zeta_j|$ ($j = 1, 2, \dots, p-1$) and comparing the above two expressions for $P'(z_0)$ gives the result

$$r_1 r_2 \dots r_{p-1} = n q_1 q_2 \dots q_{p-1}. \quad (1)$$

It is clear that $0 < r_j \leq 2$ ($j = 1, \dots, p-1$).

Remark 1. It follows from Equation (1) that Ilieff's conjecture is true when $r_1 r_2 \dots r_{p-1} \leq n$, which will certainly be the case if $z_0 = 0$ or if $n \geq 2^{p-1}$. In particular, Ilieff's conjecture is true if $p = 2$, and if $p = 3$ and the polynomial has a multiple zero.

Lemma 1. If $|P''(z_0)| \geq (n-1)|P'(z_0)|$ then there exists a zero w of $P'(z)$ such that $|z_0 - w| \leq 1$.

Proof. Suppose $|z_0 - w_j| > 1$ for $j = 1, \dots, n-1$. We recall that z_0 is a simple zero of $P(z)$. Then

$$\left| \frac{P''(z_0)}{P'(z_0)} \right| = \left| \sum_{j=1}^{n-1} \frac{1}{z_0 - w_j} \right| \leq \sum_{j=1}^{n-1} \frac{1}{|z_0 - w_j|} < n-1.$$

Lemma 2. If $\sum_{j=1}^{p-1} n_j/r_j^2 \leq (n-1)/(1+z_0)$, then there exists a zero w of $P'(z)$ such that $|z_0 - w| \leq 1$.

Proof. Since the zero z_0 is simple,

$$\left| \frac{P''(z_0)}{P'(z_0)} \right| \geq \Re \left(\frac{P''(z_0)}{P'(z_0)} \right) = \Re \left(\frac{2Q'(z_0)}{Q(z_0)} \right) = 2 \sum_{j=1}^{p-1} \Re \left(\frac{n_j}{z_0 - z_j} \right).$$

We can show by elementary properties of complex numbers that for any real $\alpha > 0$ and any z with $|z| \leq 1$, $z \neq \alpha$, we have

$$\Re \left(\frac{1}{\alpha - z} \right) \geq \frac{1}{2\alpha} - \frac{1 - \alpha^2}{2\alpha} \frac{1}{|\alpha - z|^2}.$$

(See also [3].) By Remark 1, we may assume $z_0 > 0$. Hence

$$\begin{aligned} \left| \frac{P''(z_0)}{P'(z_0)} \right| &\geq 2 \sum_{j=1}^{p-1} n_j \left(\frac{1}{2z_0} - \frac{1 - z_0^2}{2z_0} \frac{1}{r_j^2} \right) \\ &= \frac{n-1}{z_0} - \frac{1 - z_0^2}{z_0} \sum_{j=1}^{p-1} \frac{n_j}{r_j^2} \\ &\geq n-1 \end{aligned} \quad (2)$$

if $\sum_{j=1}^{p-1} n_j/r_j^2 \leq (n-1)/(1+z_0)$. The result now follows by Lemma 1.

Remark 2. 1. If $z_0 = 1$ in (2) above, then $|P''(z_0)| \geq (n-1)|P'(z_0)|$ and Lemma 1 implies that there is a zero of $P'(z)$ in $|z - z_0| \leq 1$. This is another proof of the boundary case (cf. [4]).

2. Suppose $n = p = 3$, and assume, because of Remark 1, that $r_1 r_2 > 3$. Then

$$\sum_{j=1}^{p-1} \frac{n_j}{r_j^2} = \frac{1}{r_1^2} + \frac{1}{r_2^2} < \frac{4}{9} + \frac{1}{3} < 1.$$

Using Lemma 2, this provides a new and very simple proof that Ilieff's conjecture is true for polynomials of degree 3. In conjunction with Remark 1, we see that the conjecture is true for polynomials with two or three distinct zeros. A few more simple lemmas will allow us to show it to be true for polynomials with four zeros.

Lemma 3. For a fixed integer $n \geq 4$ the function given by

$$f(x) = \frac{4(n-3)x^2}{n^2} + \frac{1}{x^2}$$

is an increasing function of x when $x > \sqrt{n/2}$.

Proof. We have $f'(x) > 0$ if $x > (n-3)^{-1/4} \sqrt{n/2}$, and the result follows.

Lemma 4. For a fixed integer n , $4 \leq n \leq 8$, set

$$g(x) = \frac{4(n-3)x^2}{n^2} + \frac{2}{x^2}.$$

Then $g(x) \leq (n-1)/2$ if $n^{1/3} \leq x \leq 2$.

Proof. Suppose $n = 4$. The only positive root of $g'(x) = 0$ is $x = 2^{3/4}$ and since $g''(x) > 0$ for $x > 0$, $g(x)$ has a minimum at $x = 2^{3/4}$. The result follows since $g(4^{1/3}) < g(2) = 3/2$.

Now suppose $n \geq 5$. We find that $g'(x) \geq 0$ if $x \geq n^{1/2} 2^{-1/4} (n-3)^{-1/4} = x_0$, say. The result follows since $x_0 < n^{1/3}$ and $g(2) < (n-1)/2$.

We can now give our main result.

Theorem. Let $P(z) = (z - z_0) \prod_{j=1}^3 (z - z_j)^{n_j}$, where z_0, z_1, z_2, z_3 are distinct and $|z_j| \leq 1$, $j = 0, 1, 2, 3$. Then $P'(z)$ has a zero w such that $|z_0 - w| \leq 1$.

Proof. As above, we may assume that z_0 is real and $0 < z_0 < 1$.

From Equation (1), if $r_1 r_2 r_3 \leq n$, then $\varrho_1 \varrho_2 \varrho_3 \leq 1$, and the result follows. Assume then that $4 \leq n < r_1 r_2 r_3 \leq 8$, $0 < r_1 \leq r_2 \leq r_3 \leq 2$, from which we have

$$r_1 r_2 > n/2, \quad r_3 > n^{1/3}, \quad r_2 > \sqrt{n/2}.$$

Then

$$\begin{aligned} \frac{n_1}{r_1^2} + \frac{n_2}{r_2^2} + \frac{n_3}{r_3^2} &\leq \frac{n-3}{r_1^2} + \frac{1}{r_2^2} + \frac{1}{r_3^2} < \frac{4r_2^2(n-3)}{n^2} + \frac{1}{r_2^2} + \frac{1}{r_3^2} \\ &= f(r_2) + \frac{1}{r_3^2} \quad \leq f(r_3) + \frac{1}{r_3^2} = g(r_3) \leq \frac{n-1}{2}. \end{aligned}$$

(by Lemma 3) (by Lemma 4)

The result follows by application of Lemma 2.

Remark 3. In view of Lemma 1, it is interesting to note also the following result.

Let $P(z)$ be a polynomial of degree n , all of whose zeros lie in $|z| \leq 1$; let z_0 be a simple zero of $P(z)$ and assume z_0 is real and positive. If $|P''(z_0)| \leq (n-1)z_0|P'(z_0)|/2$ then there exists a zero w of $P'(z)$ such that $|z_0 - w| \leq 1$.

The proof uses the inequality in the proof of Lemma 2, and also the Gauss-Lucas theorem, which states that the zeros of $P'(z)$ lie in the closed convex hull of the zeros of $P(z)$. If $w_1, \dots, w_{n-1}$ are the zeros of $P'(z)$, then $|w_j| \leq 1$ for $j = 1, \dots, n-1$. Suppose $|z_0 - w_j| > 1$ for $j = 1, \dots, n-1$. We have

$$\begin{aligned} \left| \frac{P''(z_0)}{P'(z_0)} \right| &= \left| \sum_{j=1}^{n-1} \frac{1}{z_0 - w_j} \right| \geq \Re \left(\sum_{j=1}^{n-1} \frac{1}{z_0 - w_j} \right) \\ &\geq \sum_{j=1}^{n-1} \left(\frac{1}{2z_0} - \frac{1-z_0^2}{2z_0} \frac{1}{|z_0 - w_j|^2} \right) \\ &= \frac{n-1}{2z_0} - \frac{1-z_0^2}{2z_0} \sum_{j=1}^{n-1} \frac{1}{|z_0 - w_j|^2} > \frac{(n-1)z_0}{2}. \end{aligned}$$

The desired result then follows.

G. L. Cohen and G. H. Smith
The New South Wales Institute of Technology
Broadway, Australia

REFERENCES

- 1 G. L. Cohen and G. H. Smith: A simple verification of Ilieff's conjecture for polynomials with three zeros. Amer. Math. Monthly, to appear.
- 2 M. Marden: Conjectures on the critical points of a polynomial. Amer. Math. Monthly 90, 267–276 (1983).
- 3 A. Meir and A. Sharma: On Ilieff's conjecture. Pacific J. Math. 31, 459–467 (1969).
- 4 Z. Rubinstein: On a problem of Ilieff. Pacific J. Math. 26, 159–161 (1968).
- 5 E. B. Saff and J. B. Twomey: A note on the location of critical points of polynomials. Proc. Amer. Math. Soc. 27, 303–308 (1971).
- 6 G. Schmeisser: On Ilieff's conjecture. Math. Z. 156, 165–173 (1977).